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Aince all efgenvalues are dishnet, 2y # X,
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—(»+1) + 3(At) =0
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Check you*rse\ﬁ Pat the above shress tensor sahsfies the
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= There is vo exteynal sur-,%ce -Fcrce on the lateral suvfoce

Tor Fr\‘ncin\ skresses, one meeds }o solve on el‘jenva\ue problem

det (EQ:-— %;3) = 0

-Xx o G\@y
= det(x‘o - _&®1K>=O
G-®}' -QQx -\

= —>\3+ A Ga‘sz('X"'-f\/‘) =0
= — A (RL— 61®z<9<7'+\,2)> =0

= )\‘ = @0 Cx1+\/¢>\/7_ , >\a= o, 7\5 = _ 66'(3111-\/9‘)‘/2
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directon can be found as:

Be\ooo we write the Yhree eclualn'ans (o% wich cm\\/ two are

ino\eFe\r\clenl-) plus one equabion for movmalizabion ot the vedor

NN + QOy n, =0

_7\‘ N, —
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Gl@\/ Ny - GOxng —Mn, = O
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5> Consider o circular s{-rr‘o fom  the middle O{L Hae
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AT
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Oz
Tox Lonchons G?— v, @) z

Cay
Due +o Otxisy'mme}vy oF- e %eome\-\-y and tat 0? He Qﬂ:’lfeci
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ond no marvnevxt‘, Ozz, Cor, Cgz waust not c\'\anae with =.

Oz2
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In +this cose , the Mickness is very small so variahont ocrox
Y s Y\ea\ita'\ble) so we will consider constant values of

q-21; I%T) and —Ce:e
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T Lince Ythere s vio external sheav
ZE
Toz Congtant trackhon on e inner or outev
Cav boundovy,  T,.= Ty =0
For Cre, Yhe rvesvltant force Using force balance in z-dir

Y C wk be
%enerdted at any /5 m F e sa. (aned)

Moment obt 2 = Te. (2nrt) = 6;, = F
Oz% anvt

= o = TG; (Qﬂ\"%>

=) ze% = 0

On the -ve ¥ %ce, we hhove Oy ) e :OJ Ceyr =0 (\’0 wmaintain Sym‘m)

On
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